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SOUTH EASTERN UNIVERSITY OF SRI LANKA

FIRST YEAR EXAMINATION IN BACHELOR OF BUSINESS ADMINISTRATION

/COMMERCE (EXTERNAL) - 2008 / 2009 HELD IN APRIL - 2009

BBA / COM 14 (I) - MICRO ECONOMICS

* Answer all questions.

* Calculator is allowed.

Time: 03 hours.

01.

02.

Briefly explain the following economic concepts using appropriate diagrams:-

(1)
(i)
(i)
(iv)
)
(vi)
(vii)
(viii)
(ix)
(x)

Iso quant curve

Marginal rate of substitution

Elastic price consumption curve

Factor Price Curve ( FPC)

Supernormal profit

Consumer Surplus

Cross elasticity of demand

Engel Curve

Expansion path

Income and substitution effect

(10 x 2 = 20 Marks)

(a) Draw hypothetical demand and supply curves for beef.

(b)

()

(11)

(ii)

M

(i)
(iii)

Show and explain the equilibrium quantity and price.
Show and explain the effects of a price support and a price ceiling.

What would be the effect on price and quantity exchanged of an
epidemic cattle disease?

Show and explain the effect of a boycott on the price and quantity
exchanged.

(10 Marks)

Explain the Law of Diminishing Marginal Utility.
Briefly explain the properties of an indifference curve.
Draw a budget line using the following information:

Income=Rs.600
Price of commodity A=Rs.10(horizontal axis)
Price of commodity B=Rs.20(Vertical axis)

Explain the reason for the shape and the properties of the budget

line.
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03.

04.

(iv) Discuss briefly the economic meaning of the point of tangency
between the budget line an indifference curve

(10 Marks)
(a) The Total Cost function is given as follows:-
TC =a, + 0,0~ alQ?‘ +a3Q3
Where TC is the Total cost, Q is the quantity of output and
a,,a,,a,anda, are coefficients.
Derive the function for Total Fixed Cost (TFC), Total Variable Cost
(TVC), Avcrage Fixed Cost (AFC), Average Variable Cost (AVC),
Average Cost (AC), and Marginal Cost MC)
(06 Marks)
(b) The XYZ Electrical company manufactures electrical kettles, incurring
Total Fixed Cost of Rs.500/= and total cost as shown in the following
table.
Output |TC | TFC TVC AC AFC AVC MC
0 500 ]
1 580 .
2 640
3 750 o
4 952 |
5 1200 )
6 1602 .
(a) Complete the above table (04 Marks)
(b) Draw the MC and AC curves and explain the relationship between
them. (05 Marks)
(a) Explain the differences between short run and long run cost of
production (05 Marks)
(a) The Total Cost (TC) of a firm producing in a perfectly competitive market

is given by the following function :-
TC = 6000 + 400Q - 20Q> + Q ®

Determine at what price the firm should shut down in the short run.
(05 Marks)
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(b)

(©)

(d)

(a)

(b)

(©)

@

Total Cost (1'C) and Total Revenue (TR) function are given for a perfect
competitive firm.

TC - 10 1 5Q7

TR - 60Q
Where Q is output

Determinc the profit maximizing level of output and profit of the firm.
(05 Marks)

A monopolist firm producing and supplying cooking gas to a city faces the
following demand and cost function.

Q =400 - 20P
TC =10 + 5Q
Where P is the price and Q is the quantity

Determine the quantity of the cooking gas he will produce the price he

will charge to maximize profits and amount of profit made by the firm.
(05 Marks)

Suppose the cooking gas is sold in two different markets at different
prices. The demand functions are given below:-

Q; =160 - 10P,
Q=240 - 12P,
Where P P, are prices

Determine the price to be charged in the two different markets and the

amount to be sold in each market.
(05 Marks)

Explain the concept of product differentiation and close substitution under
the Monopolistic competition. (05 Marks)

Briefly describe the short run equilibrium of an individual firm under
monopolistic competition. (05 marks)

“The most important feature of oligopoly is the interdependency” Explain

this statement (05 Marks)

Explain how the price and output are determined the oligopoly under the

price leadership by the dominant firm. (05 Marks)
#odok
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